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= AH O
N & 0 A& Al A
20008 & = | 92202 &A
o230 ALY oo A AH)
2N -3 - c2(3H) - NEME - HES @ J| & @ =&

3,793,936 3,542,011 251,925
= 686,804 472,400 214,404
== 120, 191 82,670 37,521
Al 2,986,941 2,986,941 0
3,784,036 3,532,111 251,925
= 686,804 472,400 214,404
< 120, 191 82,670 37,521
Al 2,977,041 2,977,041 0
746,005 478,000 268,005
= 596,804 382,400 214,404
< 104, 441 66,920 37,521
Al 44,760 28,680 16,080
738,005 470,000 268,005
=2 590,404 376,000 214,404
[==4 103,321 65,800 37,521
Al 44,280 28,200 16,080
DI2+01 A& 738,005 470,000 268,005
= 590,404 376,000 214,404
== 103,321 65,800 37,521
Al 44,280 28,200 16,080
|2 Y2 =l 738,005 470,000 268,005

ogoed OHOIBZ R QUHIXSE
23X 738,005,000 738,005 470,000 268,005
=2 590,404 376,000 214,404
[==4 103,321 65,800 37,521
Al 44,280 28,200 16,080
o0z23 e2 ONE oo13) 3,038,031 3,054,111 A 16,080
= 90,000 90,000 0
== 15,750 15,750 0
Al 2,932,281 2,948,361 A 16,080
Szl 2,925,531 2,941,611 16,080
2,925,531 2,941,611 16,080
05 XEXIEHH 2,925,531 2,941,611 A 16,080

HXIZ2AIHSEE

23 2,915,629,000& 2,915,629 2,931,709 A 16,080




Nl Al

SA - SR(E) - HRAY - BES At ot pJE-T =
ME T2t 1,509,900 909,900 600,000
AA2=X S 1,509,900 909,900 600,000
MNAS FOUMEHATZ N (MASFOUMEHAIS 1,509,900 909,900 600,000
zal)

NASIOH= NS 909,000 304,500 604,500

201 LEH2HH| 909,000 304,500 604,500

01 AtE22|Hl 909,000 304,500 604,500

(OFSPR=2PNE=d Z & 30,000,000 *30Al CH 900,000 300,000 600,000
OSSH ENH44+2 U HNA SFHIE S

Z & 300,000 *30Al CH 9,000 4,500 4,500

ol gyl 295,500 300,000 A4,500

801 Oldlbl 295,500 300,000 24,500

01 olglyl 295,500 300,000 A4,500

oollgldl & & 295,500,000 295,500 300,000 A4,500




N = 0Ol 3 A
20009 =& 1 3 EXNFEES &M
FHEE
EXFE A
S¥s EXNXNRREFHAMY(EXNFEHD) el d
SA-E . S(E) - MEAY - BES Abod o1& o SImE=ET
=3 ot 7,663,558 8,392,000 NT28,442
= 2 AHY 7,663,558 8,392,000 NT28,442
38 EXNXNAREFH MG (EXNFEH) 7,663,558 8,392,000 NT28,442
S83s EXNZelAS XA 2el 104,575 4,575 100,000
401 Al&HIZL=ROHYI 104,575 4,575 100,000
01 Al&HI 104,575 4,575 100,000
OXNEZ 0ldHl 24 100,000,000 100,000 0 100,000
ol gl bl 7,558,983 8,387,425 N828,442
801 aildldl 7,558,983 8,387,425 N828,442
01 Oil8ldl 7,558,983 8,387,425 A828,442
oollgldl 23 7,558,983,000& 7,558,983 8,387,425 N828,442




= AH O
N = 0 &8 AF S & Al A
20009 = =& 1 3 nSAYE &AM
2 nSIEY
M NE HOANE HB L us o &Y
o SYFEXNE Y L 2GA2(WSAY) (&2 &&)
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
wEI|E 65,277,253 56,704,035 8,573,218
= 11,740,067 11,614,067 126,000
== 345,600 345,600 0
Al 53,191,586 44,744,368 8,447,218
nE HOAME Has € WS o™ &8 65,277,124 56,704,035 8,573,089
= 11,740,067 11,614,067 126,000
< 345,600 345,600 0
Al 53,191,457 44,744,368 8,447,089
SYFIY 2HEY Y 2 A (LNEAIY) 32,367,225 26,226,355 6,140,870
OFEHS 385E1Xl 2EFXE A 3,332,204 2,216,210 1,115,994
203 HRF=XH| 250 500 2250
03 AMZ=XA2=ZXIY| 250 500 A250
OFXEHEY AIHI2F=EY|
ZA 250,000 x 14! 250 500 A250
401 AEHIZLE20UI 3,331,954 2,215,710 1,116,244
01 Al&H] 3,157,950 2,100,000 1,057,950
OOtENS38H A SIFXE2HE A&
2 1,500,000 *5,690m *37% 3,157,950 2,100,000 1,057,950
02 Zeldl 162,635 108, 150 54,485
OOtENS38HA SIFa2e 22l
Z A 3,157,950,000& 5. 15/100 162,635 108, 150 54,485
03 Al E£0HY| 11,369 7,560 3,809
OOtEH=38HA SIFXEAHE AIE 20
Z A 3,157,950,000& «0.36/100 11,369 7,560 3,809
NAFSR 2N SEF=XE HE 2,253,080 2,253,080
401 AlEHI Y] 2,253,080 0 2,253,080
01 Al&H] 2,253,080 0 2,253,080
OXAFXRN =XHE 4 (AES 204-1) 2,253,080 0 2,253,080
—EXI0H I 3,399,000 x620 m* 2,107,380 0 2,107,380
— 3 Akt 235,000& x620 m’ 145,700 0 145,700
MES 6HAl BSESFIUE AHY 3,967, 161 2,647,198 1,319,963
401 AlAHI L 20 3,966,661 2,646,698 1,319,963
01 Al&HI 3,762,720 2,508,480 1,254,240
OMESERI StEFXHE HE A&
Z A 1,340,000 *9, 360 m* *30% 3,762,720 2,508,480 1,254,240
02 2eldl 193,781 129, 187 64,594
OMES6R X stsFXHE HE 22l
AA 3,762,720,0002 5. 15/100 193,781 129,187 64,594
03 AIEE20i4I 10, 160 9,031 1,129
ONSE SR SESFIE HE A2
A3A 3,762,720,000& %0.27/100 10,160 9,031 1,129
22s 196-1HX 2YFNE HE 180,263 0 180,263




SA: REIIED
HE: NS BOAM MB L DS AN =2
SR ZYERNE AY L SY2(DSAY) (S92
SA-BH.C(BH) - HRAY - B Of) &b o J1E o Rz
401 AEHI LS 180,263 0 180,263
01 Al&l 180,263 0 180,263
SHS196-181X BYFXNY AALH S
b 7,125,000,0002! %2.53/ 100 180,263 0 180,263
UNS BE5EI K BYEME A 1,013,440 79,500 933,940
401 AEH L2 1,013,440 79,500 933,940
01 Al&l 1,013,440 79,500 933,940
OYXS 865K ZYEREAZY EXHAL]
3,335, 5002 x280 933,940 0 933,940
ol 1l bl 1,406,765 1,069, 135 337,630
801 0ilI bl 1,406,765 1,069, 135 337,630
01 ollblbl 1,406,765 1,069, 135 337,630
ooyl A 1,406,765,0002! 1,406,765 1,069, 135 337,630
DEAE HAAL(REAL) 8,401,096 7,799,416 601,680
= 126,000 0 126,000
= 345,600 345,600 0
Al 7,929,496 7,453,816 475,680
DEANLE 24 Ty 1,234,926 1,032,926 202,000
401 AEHIYL S 1,234,926 1,032,926 202,000
01 Al&l 1,231,220 1,029,220 202,000
OB~ SYU(HENEXR
AH 21,650,0002x2000 £ 433,000 231,000 202,000
DSAMAEE AL 4,994,040 4,822,360 171,680
201 Yereg| 20,580 8,400 12,180
01 AtR2elt| 20,580 8,400 12,180
ORSYEFA - HEhe Aol 2R3l
70,0002 * 10% * 183l 12,600 0 12,600
ONEAHPIAS 5|0 &als
A 66,5002 20 *63| 7,980 8,400 A420
207 SRl 59,500 0 59,500
01 AREe| 59,500 0 59,500
OREES HHAG SAY(SY2 HLNSH
3,500, 0002 1704 59,500 0 59,500
401 AEHIYLS ] 4,912,960 4,812,960 100,000
01 Al&tl 4,900,000 4,800,000 100,000
ORQIct= Stoiat &X  50,000,0008 %20H A 100,000 0 100,000
DENSE DHAY 228,000 0 228,000
= 126,000 0 126,000
Al 102,000 0 102,000
401 AEHI2L 20 228,000 0 228,000
= 126,000 0 126,000




A WSIE D

HE: DS HOAL HZ U DS OF =
CI9l: MEAM HEA (TS AL) (el @2
SA - SR(E) - HRAY - BES O & o4 pJE-T HIRE
Al 102,000 0 102,000
01 Al&H| 228,000 0 228,000
OLED SASS WHALY 228,000,000 14! 228,000 0 228,000
= 126,000 0 126,000
Al 102,000 0 102,000
WENMNE 2L (WSAL) 23,250 20,000 3,250
2ol nsusy 249 23,250 20,000 3,250
201 Let2d| 14,250 15,000 AT750
03 A2 EH| 14,250 15,000 AT50
O O0REDRE DSDM M=
23 1,425 %10,000% 14,250 15,000 AT50
405 AHeHESHI 4,000 0 4,000
01 T =S FH SHI 4,000 0 4,000
OgoluESwsE LCD TV 4,000,000& = 1CH 4,000 0 4,000
ZADNSANL (DEAMY) 6,927,500 5,007,500 1,920,000
MEGHE 2ANSANE BES 6,927,500 5,007,500 1,920,000
203 ¥R =&l 1,000 0 1,000
03 AZFXHRFAH| 1,000 0 1,000
OUlel B2xze s AMA2EFY
1,000,000& * 14! 1,000 0 1,000
207 AN 200,000 90,000 110,000
01 g2ESH] 200,000 90,000 110,000
OUISESAEIYSE WLSLAMLY SIS
B3 Z& 200,000,000 *14] 200,000 90,000 110,000
308 XX HHSO0IA 6,726,500 4,917,500 1,809,000
08 JIEIRE= 6,726,500 4,917,500 1,809,000
OUEZH ZADSAE 23
Z & 1,363,000,000& * 14| 1,363,000 1,704,000 A 341,000
O8E & STHINE & £LB(HURI1e
o getatd g Rd) 2,150,000, 000& 1A 2,150,000 0 2,150,000
HUHWSHE AN (LSAY) 17,540,053 17,632,764 A92, 711
= 11,614,067 11,614,067 0
Al 5,925,986 6,018,697 AR, 711
YA Ns8 DESHMACTS) 2SFAS 17,540,053 17,632,764 A92, 711
= 11,614,067 11,614,067 0
Al 5,925,986 6,018,697 A2, 711
201 LEH2HH| 123,543 86,254 37,289
01 AtER22/Hl 11,400 0 11,400
OBIST#= =Zx& Ut 1,000,000 +x9& 9,000 0 9,000
OHAZZAAY 22X 220
200,000& x9& 1,800 0 1,800




FAH: BSIIE
M WsS AL NS ¥ us o™ =2
©€el: EHUSHEE MG (nEAMY) (et =3
SN CR(EH) - NRAY - BES 01l &t o 013 o HRE2
OHAEEANAY =ZXE =2l
600,000 =1CH 600 0 600
02 =234l 112,143 86,254 25,889
OBIS etEEII2Y &Iz
2 24,1003 7200 2+ 123 20,823 6,048 14,775
OBIS St EHIEI| SAI=
Z2& 7,610,000& x12& 91,320 80,206 11,114
401 A EHIL 201 16,574,510 16,704,510 A 130,000
= 11,614,067 11,614,067 0
Al 4,960,443 5,090,443 A 130,000
01 Al£Hl 16,532,862 16,662,862 A 130,000
OHEA HAESBAEA 0/&HIE & 0¥ 0 130,000 A 130,000
Hees(nEJE) 129 0 129
SEIES(REAMY) 129 0 129
RSN 129 0 129
802 Ete&t=DJIEt 129 0 129
02 Al - EHIBXZEtE3 129 0 129
OSEXNRLN EL2= MAH &M grat=
129,000 129 0 129




SH: DENCH
M2 DSALXE

el A RYXUDR 22 (DEAY) (&9 E
2N -3 - c2(3H) - NEME - HES 0] AFoH I ek Hw=2
WEXNE 6,007,914 5,173,457 834,457
WEAAX 5,834,341 4,999,884 834,457
HA ZYEXGDX 22 (REALY) 331,989 323,389 8,600
MNESEHAZIU DX 2K 331,989 323,389 8,600
307 DI2+0| & 331,989 323,389 8,600
05 BIIRAE3 331,989 323,389 8,600
OANSBS ZYXIDX 012t
22X 331,989,000 331,989 323,389 8,600
SEHZHI CE(DEAY) 394,458 288,503 105,955
EHZHI} EES2 HE 133,561 20,893 112,668
201 LEr29] 17,461 20,893 NA3,432
01 AFR2teld] 17,461 20,893 A3,432
OF - HIIEMEEY E22 HE
AA 1142 %40,6600H 4,636 7,393 N2,757
Oe-Z24Y CIP LA (HA Al
2A 3,0002 %4, 27504 12,825 13,500 AB75
401 AlEHI LY 116,100 0 116,100
01 Al&d 116,100 0 116,100
ORIt H2tets o B A X
1,100,000 *179H A 304 56,100 0 56,100
ORIk M2t et LED QHHE & X
5,000,000 * 127 A 60,000 0 60,000
WEXNTCE=2 Ay 58,804 61,480 A2 ,676
202 O] 50,844 53,520 A2 ,676
01 =20y 2,964 3,120 A 156
OSYZx - B &5 AZHHSA ot
AH 23,5009 2 122 2,964 3,120 A 156
02 2 %Y 47,880 50,400 A2,520
O=2Y= - X HA - "HAl - FSHSEFHEA O
H AA 142,500 28 «12% 47,880 50,400 A2,520
EHAISHMCE U BIAIBHCAY EBSHE (X 45 677 49,270 23,593
AL
201 LEr29H] 26,821 29,790 A2,969
01 AtR2t2ld 26,821 29,790 22,969
QEHAIZSHE#I 2F U HABHE Al EE
SHIE 2AA 1202 %166, 5080H 19,981 24,000 A4,019
ORQIEAI=AME MoRAG| 2
2AA 70,0002 * 155 *23] 2,100 1,050 1,050
202 Ol 11,856 12,480 A6B24
01 =2U 0y 11,856 12,480 AB24




SN REXC D
HH: DEAMAX
Sl SHEII SH(DSAY) (S5 &)
SH-EH . C(BH) - NRAY - BES Off &F oA [ =)e bRz
OSAIZHHS S5 AIZTHASE oft]
AT 123,5002+8% + 122 1,856 12,480 £624
a2 BRI o 2,916 3,360 A444
201 Yer2 ) 2,216 2,360 A144
01 ALR eIt 2,216 2,360 A 144
OSISYUMI DT SHZES S| (0F21)
AT 6,0002x2F +92 * 128 1,296 1,440 A144
203 PR =Y 700 1,000 A300
03 AlMEZ L= 700 1,000 £300
O%2 SBAMY AH 2 =X
A 70,0009 700 1,000 A300
DEANLS B2A(DEAY) 2,149,177 1,429,275 719,902
MA MEE S0y 8% B 656,640 252,000 404,640
401 AlZHIL 2O 656,640 252,000 404,640
01 Al 656, 640 252,000 404,640
ORXZ 2YF - IUSX YSZ= &5
48, 00024 *40M3m+B 04 x37H 2 138,240 0 138,240
ORXZ 2YF - IUSNYCSE S&CCTV &
% 40,000, 0002 *6LH 240,000 0 240,000
ORXNZ 2T - IUSNYCSE S AT
Rl 1,100, 00024 #2474 A *17H 26,400 0 26,400
MALMRE Z20Y SXE4 13,680 13,800 A120
201 L2y 13,680 13,800 A120
01 AR eIt 13,680 13,800 A120
OMALsZE Z208 SR+
AT 1,140,002 122 13,680 3,800 A120
SUAFRY el Y 24 340,600 355,000 A 14,400
201 Y2 237,600 252,000 A 14,400
01 ALR2lt] 237,600 252,000 A14,400
SN A (C2)EMHE UR2
A 60,0002 %3308 %122 237,600 252,000 A 14,400
S\l REJIE S| AX 724,336 394,400 329,936
402 QIR 20IH 724,336 394,400 329,936
IR 724,336 394,400 329,936
OnE3teE S| &3
AH 272,0002+2,663CH 724,336 394,400 329,936
DEMRT2OY SN2 2,921 3,075 A 154
201 Yer2 Y| 2,921 3,075 A 154
01 AR eIt 2,921 3,075 A 154
ONEHFTZ I SN+
A 24,338,002+ 12% 2,921 3,075 A 154




2N AFT MRS
o DEIN =g
Sl FUE RN B2 (DSAY) EEREE)
SH-EH . C(BH) - NRAY - BES Off &F oA [ =)e bRz
+37 FNDSH 2,430,866 2,417,292 13,574
DSEN =g 2,317,957 2,304,383 13,574
EXE RNZA(DSAY) 492,683 476,053 16,630
TYENT ALE RS 420,730 400,730 20,000
401 AlZHIL 2O 420,730 400,730 20,000
01 Al 417,301 397,301 20,000
OXTA ¥ XYA FIT +EAL &3
2,000,000% 107 20,000 0 20,000
Y=Y 29 68,553 71,923 A3,370
201 Y2 68,173 71,523 £3,350
01 At 22l 65,773 69, 123 3,350
OFI| & AYOIM G +42  ZF O 0 1,950 A1,950
OBHE SNSSHHLEE 42 M
AT 72,0002 %250 £ #23] 3,600 5,000 A1,400
203 R =Y 380 400 A20
03 AMEHYREXY| 380 400 A20
OBYFXY 4K HIRE(4,5181D])
A 190,002 23] 380 400 A20
=Y FIL 22A(LSAY) 1,788,071 1,797,099 £9,028
EEES PO 1,788,071 1,797,099 £9,028
201 Y2 1,242,830 1,250,430 AT7,600
01 AL 22l 141,728 149,328 AT7,600
SLIEER=T 116,640 124,240 AT7,600
—SYFIR eS|
23 1,000,002 122 12,000 14,400 A2,400
—SYFIT DEHE AEH MH
AT 1502 +130,0000H 19,500 22,500 A3,000
—SUFIL HYSBE 20 NN
A 100,0002! *407H 4,000 5,000 A1,000
—EYFIA NYSES WS M
2 10024 %16,00004%33] 4,800 6,000 A1,200
202 O4H| 24,282 25,560 N1,278
01 2hoit] 8,892 9,360 468
OH%R Sz BZ0IH|
A 123,500 6%+ 122 8,892 9,360 2468
02 oot 15,390 16,200 £810
OZYFII o FU0H|
AN 142,500 9%+ 122 15,390 16,200 £810
203 R =Y 2,850 3,000 A150
03 AIMETLREY] 2,850 3,000 A150
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FA ST
N DNEERMER
Che|: =XHE

SA-EFH - SA(SAH) - MREAY - BES Off &F K I8N BlusZ

DE 1,902,207 1,901,678 529
sg 1,796,798 1,796,269 529
RA2(DEAY) 148,521 150,980 A2,459
Y=Y 29 44,916 47,375 A2,459
201 Y2 44,536 46,975 A2,439
01 ALRelt] 44,536 46,975 A2,439
ONS BE TYFAET ZIBIIHI(3M2)
AT 27,750,000 #5428 %0. 1%+2H Al 30,081 32,520 A2,439
SRS 380 400 A20
NEESSEERST 380 400 A20
OBYENET +ER(B2lQ)) 23
A 10,0002 %19 =23l 380 400 A20
A el (REAY) 1,602,682 1,610,400 AT,718
pUE 1,602,682 1,610,400 AT.718
st o) 1,099,591 1,107,731 ~8,140
01 A2l 152,657 160,797 £8,140
OSHFIT ox 2EH 22l - 223 L A
282 29 23 1,000,002 122 12,000 14,400 A2,400
OPDA 2tEEX P 2T 900 +3,0002 2,700 3,600 £900
OCCTV HESXA Z2E EH 7Y
2 600,0002 +1)H*128 7,200 8,340 A1,140
OSEFII 2XPY 22 49 M
A 10,0002 #2574 2,500 4,000 A1,500
OSEFIT 0y E28 MUK HX
2 10021%10,00004%23] 2,000 3,000 A1,000
OFFXNVEE NS U8 248
2 90,0002+ 122 10,800 12,000 A1,200
o1t 24,282 23,760 502
ENTTY 8,892 9,360 2468
OAMRH LS S EZO0i]
AT 123,508 +6% + 122 8,892 9,360 £468
94 0 bl 15,390 14,400 990
OSHFIT o U0
AT 142,502 +8% + 122 13,680 14,400 AT20
OBHEII Stz FAUHI (A7)
142,5002 * 124 +128 1,710 0 1,710
YR =) 1,900 2,000 A100
NEESEESSY 1,900 2,000 A100
OBHEIL S U 4542 LS
23 1,900,002 1,900 2,000 A100
SHIRYTS(DSAEY) 22,675 22,889 A214
YLD ALSEA 22,675 22,889 A214
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SN 2P ZHRSD
M2 DSHAHY
ool EMFEII 22 (DEAY) (S5 &2)
SA-EFH - SA(SAH) - MREAY - BES Off &F K I8N Hws2
=97 ZHNDSH 2,528,831 2,391,000 137,831
DERAE 2,341,619 2,285,591 56,008
SUFIT 22 (REAY) 2,023,946 1,972, 104 51,842
EUFIR o 2,021,096 1,969, 104 51,992
201 LByl 1,286,304 1,285,966 333
01 Attt 200,322 199,984 338
OCCTV HeE=A K= 2 57,0008 5808 A 4,560 4,800 A240
SI=EFT |(a+n1|a+ POAS) #2l & HIE 7Y
AT 475,000 128 5,700 6,000 A300
OBHEIL S HAZY 4228 7
AT 665,000 122 7,980 8,400 A420
OCCTV &gl TRIE £ 7Y
A 161,500 674 +63] 5,814 6,120 £306
OBYZIL 2XNPY 224 M
AT 95,0002 107 £ 23] 1,900 2,000 A100
OEBHZIL 2XNPY 22+ =)t M=
95,0002 * 107 2 23] 1,900 0 1,900
OEY FXUEM HES =M M
8002 4, 75004 3,800 0 3,800
O FIHEN 22HC
5021 %9, 5000H 4 2] 1,900 0 1,900
OOLPRE I P HF 1,045,002 +30H 3,135 3,300 A165
OSHENX VEH2IXNAN L SSDN 24
AT 65 +57,00004 =122 44,460 46,800 A2,340
OHAXEXZ HEHBDNN L SEDXA ¢
4 AT 652 +1,9000 128 1,482 1,560 AT8
ODEHSED AESTA 214
AT 85217, 10004 %122 17,442 18,360 A918
OSHEFX DVEHS AEIH M
A 1508%209,0000H 31,350 33,000 A1,650
ODENE MEX MASLE L HMSSA M=
A 76,0002 %208 A 1,520 1,600 A80
OR& POA 2HMEX 7Y AT 880R+5,7002 5,016 5,280 A264
OSHZHIVHNE MULE Ha2+R
24 2,850,000 %122 34,200 36,000 A1,800
OSHEIX Sa 0=y 5,472 5,760 £288
—Ex= AT 95,0009 12 1,140 1,200 A60
—ot= AT 95,0002 122 1,140 1,200 A60
—gt= AT 142,508 %128 1,710 1,800 A90
—223 24T 76,0009 12 912 90 I
—ysE Y AT 19,0008 12 228 240 A12
—yae AT 28,5009 12 342 360 A18
OBHEIL S 1= (A7) 2,736 0 2,736
—Ex= 95,0002 +6% 570 0 570
— 5t 95,0002 x6% 570 0 570




A 2ER IMDNED
Hi: NEXANSE
CHe|: SYHZFI} 22 (DEAMY) (&)
2N -3 - c2(3H) - NEME - HES 0] Ao J)[| el Hl =2
—gate 142,500 «6H 855 0 855
—223 76,0002 x6 456 0 456
—gste M2 19,0002 x6H 114 0 114
—gsta 28,500 «6H 171 0 171
ORoerx| g Heldl  ZA 51,6002 +28.50H 1,471 1,548 ATT
O OIEX A DNEH=WNE IHH M
ZE 800 *1,9000H 1,520 1,600 A80
O= | 16,964 17,856 A892
—EYHZHI S L CTVAEA 22X 2
AlH| 13,680 14,400 AT20
x| o= A 5, 700R+5H 20«12 6,840 7,200 A360
Ok 2+t A 5, 700R+5H 20 « 122 6,840 7,200 A360
—5Y SHZHIIHS U CTVAEA 22T
S A ZA 5,700 +6H+8L x12& 3,284 3,456 A1T72
202 04 35,112 29, 160 5,952
01 2oy 16,302 9,360 6,942
OAMZtHHLZ =202 =& 04|
ZA 123,500 6H x12& 8,892 9,360 2468
OAZEMAH SR J282 =X (d7HE)
123,500 x6H x 102 7,410 0 7,410
02 = MH 18,810 19,800 2990
OSHFFEIH=2 04|
ZAE 142,500 11« 12& 18,810 19,800 2990
401 Al&HI LY 45,702 0 45,702
01 Al&H] 43,672 0 43,672
OEY=HIctxs DA CCTV X A A& HH
40,000,000 *9.18/100 3,672 0 3,672
OS¢z DFEA CCTV &X
40,000,000 =1CH 40,000 0 40,000
03 A& =2CHHI 2,030 0 2,030
OSYZ=FITHS CCTV AXl Ol AtH|
2,030,000 =1CH 2,030 0 2,030
SYUHZHX SEQH 23 2,850 3,000 A 150
203 Y2 =X 2,850 3,000 A 150
03 AM=TARFZH| 2,850 3,000 A 150
OSYHFTHI} QAT
ZE 19,0002 x50 +33) 2,850 3,000 A 150
DIZICHRI X2 (WS AHS) 51,380 45,547 5,833
AY2gdHEN 2YH2S2AMKSE XK 15,000 9,000 6,000
307 QI2t0|A 15,000 9,000 6,000
04 BIZtSHAIE = 15,000 9,000 6,000
ONEZRM AL HE BEX2
ZE 3,000,000 *43] 12,000 6,000 6,000
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SN
Bl QIS HIXI (RSAHY) (ctelda
FA R CA(EA) - NFAY - BYES Ofl &F <4 ESE HlunsSZ
WERLRLHS 2T 23 L AEE ZA 36,380 36,547 A 167
201 ety 9,433 9,600 A167
01 Ar2R2relt] 3,183 3,350 A167
Ounssusys &5 AXA M= 1,473 1,550 ATT
—3IXA ZE 76,0008 %102 A 760 800 A40
-S5 Y 508%14,25004 713 750 A37
ONS[LTHS A SIFSE €3 ++=
2 800R 9502 760 800 A40
OAF(HM)ZEAN A =UdSX +28
ZE 2,0008 *28524 570 600 30
Ounssusgazaagd =<
ZE 66,0008 +5 13 330 350 A20
SYFE S22 (WSAHY) 266,293 267,940 A1,647
SYFNE 29 31,237 32,884 A1,647
201 ety 31,237 32,884 A 1,647
01 Ar2R2relt] 31,237 32,884 A 1,647
OO0ret1,28 SR L2 2FEIH
ZE 28,500,000 *23981%0. 1%+2IH At 13,623 14,340 ATIT
ONBESFUE U 2RI4EAE 2FEIH
ZE 2,685,650,0008 +0. 1%+2JH At 5,372 5,654 N282
OSEFxg Latael el 4
T 2021%49,300m <128 11,832 12,480 A648
LH2APHI(2ET SMRSH) 187,212 105,409 81,803
QA 2HH (LSAHY) 187,212 105,409 81,803
el 2y 187,212 105,409 81,803
101 Ql24d| 187,212 105,409 81,803
08 JIEtZR B2 187,212 105,409 81,803
OSH=TR = AIRERIAIE 187,212 105,409 81,803
—30(5¥) 1,007,0802 «6 2« 102 60,425 0 60,425
—IExE(52)
80,0002 x20Al 2t /40Al 2t 6% * 102 2,400 0 2,400
—XZBXH(SL)
105,0002 %20 Al 2t /40A| 2+6& * 102 3,150 0 3,150
—JHSHHI(SE)
130,0008 +32 /52 +6H « 102 4,680 0 4,680
— =3 BE3
ZF 132,935,0002 *4.5/100 5,983 3,263 2,720
—RUABLES
2 132,935,0002 +2.54/100 3,377 1,842 1,535
—U8=283  3F 132,935,0008+1.3/100 1,729 943 786
—MATHHEE S ¥ E 132,935,000& *1/100 1,330 726 604
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N & 0l & AF S Z M A
2000E1E X 15 BREXHLAY MA
SA: RelR A
o SAIEH YL AXINLAY
ol BHIXI T SRR (B KR L ALY) (etol & e
SA-EFH - SA(SAH) - MREAY - BES Off &F OH I8N Blusz
Zel2 A 449,091,879 532,745,705 /83,653,826
SAEH Y XN 349,048,315 532,609,885 183,651,570
BRXT ST A (B DX HLAE) 348,853,021 532,503,689|  £183,650,668
DRSX LT LA 102,016 102, 160 A 144
202 01l 2,016 2,160 A 144
01 =0Tt 2,016 2,160 A 144
OB WEARNLRE A543 o]
2T 20,0008 *3%+2.83]» 128 2,016 2,160 A 144
BN YXZS 703, 109 706,609 £3,500
201 Y2 ] 65,831 69,331 £3,500
01 AFR22/H| 65,831 69,331 ~3,500
OHNZS 2IHI 448
2% 32,831,0008 «14! 32,831 36,331 £3,500
BRI ST ALY 12,430 12,680 A 250
203 Y2 FAY| 5,230 5,480 A250
03 AlBEXLREA| 5,230 5,480 £250
ORIl o FI2AEs  HEF 4,750,000 4,750 5,000 A250
DX SN AL T2 ofibiy| 348,035,466 531,682,240 183,646,774
801 OflHIH| 348,035,466 531,682,240 183,646,774
01 Ot 348,035,466 531,682,240 183,646,774
ool bl 27 348,035,466, 0002 348,035, 466 531,682,240 183,646,774
HAAIE 2 (BDINLAY) 195,294 196, 196 A902
HALR Y AIRA BANM 195,204 196, 196 902
201 Y2t 186,494 187,396 902
01 At222/HI 186,494 187,396 A902
oeEea 2T 1,750 33204 * 122 6,972 7,350 A378
OB KA 243 9,950,000 *1CH 9,950 10,474 ~524
BH2AAH (222D 43,564 45,820 ~2,256
OIS | (B XI HLAS) 2,850 3,000 A150
olzt@ ol 2,850 3,000 A150
203 YR FAH| 2,850 3,000 A150
04 RASLLREA| 2,850 3,000 A 150
ORNSAYLFIH  HH 237,508 «122 2,850 3,000 A 150
12U (B DTN LA) 40,714 42,820 ~2,106
123l 40,714 42,820 ~2,106
201 Lere | 20,748 21,840 A1,002
01 AL/t 20,748 21,840 A1,002




SA: 2240
A #F2IAL (2224
©el: JI2ZH (HREXINEAY) (et =3
SN H - SR(EH) - NPAMY - BES 0fl &t o o173 o HRE2
ORAM2ZHI Z2& 76,0003 x13H 128 11,856 12,480 NG24
O=&l Z2E 57,0003 13~ 12& 8,892 9,360 N468
202 O4Hl 19,266 20,280 A1,014
01 WY 19,266 20,280 A1,014
OE TS A =& (I
ZE 123,500 13~ 123 19,266 20,280 A1,014
Meegs(2el2a) 100,000,000 0 100,000,000
LHEHN XIS (Bt E XN L ALS) 100,000,000 0 100,000,000
HEAHH K= 100,000,000 0 100,000,000
701 JIEt HE =S 100,000,000 0 100,000, 000
01 JIEt2I HEE= 100,000,000 0 100,000,000
OB H d== 100,000,000, 000& 100,000,000 0 100,000,000
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&4 X1 OH & 1t

=MD NP =
D EDRT SXELHAY (BRI ALY)

SH-EFHHA(FA) - NIRAE - BES O AFH J| & oK Hws2
& X| H 2 ot 76,059,249 65,075, 173 10,984,076
BDX T S XIpe 75,983,843 64,998,993 10,984,850
DX X ESA (B RS RHLAY) 45,299,795 40,088,835 5,210,960
DX X ESBA 17,211,742 11,999,782 5,211,960
401 AlEHIZ 20| 17,211,742 11,999,782 5,211,960
01 Al&H 17,172,245 11,972,245 5,200,000
OBRXT X EHBA
A 17,172,245,0009 * 14! 17,172,245 11,972,245 5,200,000
03 Al&S0Hb 39,497 27,537 11,960
OB BT X ZHBA
A 17,172,245,0009! 0. 23% 39,497 27,537 11,960
SXOHY B RBIID B 19,000 20,000 A1,000
203 HREXY| 19,000 20,000 A1,000
03 AIZEZQREFY| 19,000 20,000 A1,000
OSXHY et 42X ZH19,000,0002 19,000 20,000 A1,000
ZONE S JIPAIE EEAS (B DEXHLAIS) 23,704,883 18,260,993 5,443,890
ARG ALSTAY 2E 17,043,865 15,490,975 1,552,890
308 XXl A SOl & 17,043,865 15,490,975 1,552,890
08 JIEI=E2 17,043,865 15,490,975 1,552,890
OuELYH ALBAH 2
2= 92,129,000,0008! *18.5/100 17,043,865 15,490,975 1,552,890
B OICOHY ZAH 22 5,254,000 1,363,000 3,891,000
308 KXl £t SOI & 5,254,000 1,363,000 3,891,000
08 JIEIRES 5,254,000 1,363,000 3,891,000
OB WICHSB A 2¢
2 X28,400,000,0002 *18.5/100 5,254,000 1,363,000 3,891,000
DX T BN A (B XL ALY) 6,930,000 6,600,000 330,000
DDXT SAWLAHUAY 223 6,930,000 6,600,000 330,000
308 XXl EHHI S 0| H 6,930,000 6,600,000 330,000
08 JIEISES 6,930,000 6,600,000 330,000
OB DA T HAZH 2 330,000,000 *14! 330,000 0 330,000
S A FH| (XL D) 75,406 76,180 ATT4
OlH 2| (LD MWL) 3,990 4,200 A210
olzi2 gyl 3,990 4,200 A210
203 HRFEY| 3,990 4,200 A210
04 BNSYAREAY| 3,990 4,200 210
ORN2Y ARZAE  AX332,5002 122 3,990 4,200 A210
I = (T DE XL AY) 71,416 71,980 564




A SRR

HE: AL ZH|(HRIHLD)

Eel: JI2ZHI(EUEXIONEAMY) (el &)
SNBSS - MBAY - BES 01l &4 24 p/E-T" {imE=Eh
Jl=&Hl 71,416 71,980 A 564

201 LEH2HH| 35,112 36,960 A 1,848
01 At 2t2ibl 35,112 36,960 N 1,848
ORA23Hl B 76,0003 22H «128 20,064 21,120 A 1,056
Os 2l ZE57,000& 22H «128 15,048 15,840 ANT92
202 Oddl 32,604 34,320 A1,716
01 WY 32,604 34,320 AN1,716
O= 0l ZE 123,500 x22H « 123 32,604 34,320 AN1,716
405 AHeHESHI 3,700 700 3,000
01 T =S FH SHI 3,700 700 3,000
OA=RDEE FFH 2 1,500, 000& »2CH 3,000 0 3,000
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